

EREN ISMAH URGOO

19/ENG02/017

MATH 104 Practice Question

1  $(11 - 3x) / (x^2 + 2x - 3)$

$$\frac{11 - 3x}{x^2 + 2x - 3}$$

$$\frac{11 - 3x}{x^2 + 2x - 3} = \frac{11 - 3x}{(x-1)(x+3)}$$

$$\frac{11 - 3x}{(x-1)(x+3)} = \frac{A}{x-1} + \frac{B}{x+3}$$

$$11 - 3x = A(x+3) + B(x-1)$$

let  $x-1 = 0 \Rightarrow x = 1$

$$11 - 3(1) = A(1+3) + B(1-1)$$

$$11 - 3 = 4A$$

$$8 = 4A$$

$$A = 2$$

let  $x+3 = 0 \Rightarrow x = -3$

$$11 - 3(-3) = A(-3+3) + B(-3-1)$$

$$11 + 9 = -4B$$

$$20 = -4B$$

$$B = -5$$

2  $(2x^2 - 7x - 35) / ((x+1)(x-2)(x+3))$

$$\frac{2x^2 - 7x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$2x^2 - 7x - 35 = A(x-2)(x+3) + B(x+1)(x+3)$$

$$(x+3) + (x+1)(x-2)$$

let  $x+1 = 0 \Rightarrow x = -1$

$$2(-1)^2 - 7(-1) - 35 = A(-1-2)(-1+3)$$

$$2 + 7 - 35 = -6A$$

$$10 - 35 = -6A$$

$$-25 = -6A$$

$$A = 25/6$$



$$\text{let } (x-2) = 0 \Rightarrow x = 2$$

$$2(2)^2 - 7(2) - 35 = B(2+1)(2+3)$$

$$8 - 14 - 35 = 15B$$

$$-41 = 15B$$

$$B = -41/15$$

$$B = -3$$

$$\text{let } x+3 = 0 \Rightarrow x = -3$$

$$2(-3)^2 - 7(-3) - 35 = C(3+1)(3-2)$$

$$18 + 21 - 35 = 10C$$

$$4 = 10C$$

$$C = 2/5$$

$$2x^2 - 7x - 35 = \frac{25}{6}(x+1) - 3(x-2) + \frac{14}{3}(x+3)$$

$$(x+1)(x-2)(x+3)$$

$$\frac{25}{6}(x+1) - 3(x-2) + \frac{14}{3}(x+3)$$

$$\int \frac{2x^2 - 7x - 35}{(x+1)(x-2)(x+3)} dx = \int \frac{25}{6(x+1)} dx - 3 \int \frac{1}{x-2} dx + \int \frac{14}{3(x+3)} dx$$

$$\frac{25}{6} \log|x+1|$$

$$- 3 \log|x-2|$$

$$+ \int \frac{14}{3(x+3)} dx$$

$$\frac{25}{6} \log|x+1| - 3 \log|x-2| + \frac{14}{3} \log|x+3|$$

$$\frac{1}{x^2 + 12}$$

$$= \int \frac{1}{(x+11)^2} dx = \int (x+11)^{-2} dx$$

$$= \frac{(x+11)^{-1}}{-1}$$

$$= -\frac{1}{x+11}$$

$$\frac{1}{(x+11)^2}$$